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RSN/ &= 30 14 16 12 18
H—E R (100.0) (46.7) (53.3) (40.0) (60.0)
AT BEE 40 12 28 12 28
R G B (100.0) (30.0) (70.0) (30.0) (70.0)
e b 20 12 8 9 11
A FHE (100.0) (60.0) (40.0) (45.0) (55.0)
S 61 50 11 45 16
R AL (100.0) (82.0) (18.0) (73.8) (26.2)
A e 15 9 6 9 6
HETF—EA (100.0) (60.0) (40.0) (60.0) (40.0)
P—p R 49 19 30 18 31
(iSRS D) (100.0) (38.8) (61.2) (36.7) (63.3)
. 90 18 72 11 79
IAELT (100.0) (20.0) (80.0) (12.2) (87.8)
204 59 145 66 138
10~29 A (100.0) (28.9) (71.1) (32.4) (67.6)
226 128 98 105 121

N 133 104 29 98 35
100~299 A (100.0) (78.2) (21.8) (73.7) (26.3)
. 77 74 3 70 7

300 AL E (100.0) (96.1) (3.9) (90.9) 9.1)
S B G A 125 107 18 105 20
e () (100.0) (85.6) (14.4) (84.0) (16.0)
B 5 g1 A 605 276 329 245 360
Vi e (1) (100.0) (45.6) (54.4) (40.5) (59.5)
IR 802 404 398 375 427
H24w 43t (100.0) (50.4) (49.6) (46.8) (53.2)
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<100.0> 1£94.1>1<5.9>]<15.0>1<85.0>|<52.5>1<47.5>]<72.5>1<27.5>] <3.8>1<96.2>] <6.4>1<93.6>] <8.7>1<91.3>

454 | 30 442 41 i 431

3 82 45 | 42+ 3 | 4 L AL [ 19 I 26| 26 ! 19 | I ! 44 0 ! 45 | 4 | 41
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<100.0> 1<93.3>1<6.7>1<8.9>1<91.1>|<42.2>1<57.8>]<57.8>1<42.2>] <2.2>1<97.8>] <0.0>1<100.0>] <8.9>1<91.1>
- 126 85 82 1 3 | 13 1 72 | 50 i 35 | 70 1 156 | 1 i 8 | 5 | 8 | 10 | 75
flyE (100.0) | (67.5)
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(100.0) | (75.0)
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L, R | (100.0) | (87.5)
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1 19 | 11 [1oi 1 [ 2719516 | 9i2]01iiI1l|o01iI1l| o011l
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R 100.0) | (60.0)
<100.0> [<100.0>1<0,0>]£16.7>1<83.3>]<38.9>1<61.1>|<61.1>1<38.9>1<0.0>1<100.0>] <0.0>1<100.0>| <5.6>1<94.4>

P 7T B 40 24 21 3 3 21 131 11 131 11 0 24 0 24 0 24

e | (100.0) | (60.0)
LA s <100.0> |<87.5>1<12.55| <12.5>1<87.5>| <54.2>1<45.8>[ <54.2>1<45.8>] <0.0>1<100.0>[ €0.0>1 <100.0> <0.0>1 <100.0>

1 20 16 [ 161 0 | 2 11410 6 |10 6 | 2 114 0 16| 1 ¢ 15
E . | (100.0) | (80.0)
<100.0> 1<100.0>1<0.0>]<12.5>1<87.5>|<62.5>1<37.5>]<62.5>1<37.5>] <12.5>1<87.5>| <0.0>1<100.0>] <6.3>1<93.8>

61 52 51 1 7 45 | 31 1 21 | 41 11 11 1 41 14 | 38 7 45

R, fEak | (100.0) | (85.2)
<100.0> 1<98.1>1<1.9>1<13.5>1<86.5>|<59.6>1<40.4>]<78.8>1<21.2>]<21.2>1<78.8>]<26.9>1 <73.1>] <13.5>}<86.5>
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HEF—EX | (100.0) | (73.3)
<100.0> 1<100.0>1<0.0>1<9,1>1<90.9>] <9,1>1<90.9>]<63.6>1<36.4>| <O ,0>1<100.0>] <O.0>1<100.0>] <0O.0>1<100.0>

P 31 |25 6 | 1 {30 13:18 | 18 13| 1 {30 ] 1 {30 6 | 25
s b o) | (100-0) | (63.3)
=~ <100.0> [<80.6>1<19.4>[<3.2>1<96.8>[<41.9>1<58.1>[<58.1>1<41.9>[<3.2>1<96.8>] <3.2>1<96.8>[<19.4>1<80.6>

- 90 26 | 241 2 | 7 {1 19 | 12 i 14 | 14 i 12 ] 0 i 26 ] 1 i 25| 1 i 25
INLLT (100.0) | (28.9)
<100.0> 1€92.3>1<T7.7>1£26.9>1<73.1>|<46.2>1<53.8>]<53.8>1<46.2>] <0.0>1<100.0>] <3.8>1<96.2>] <3.8>1<96.2>

204 107 97 ! 10 | 13 ! 94 | 51 ! 56 | 56 ! 51 0 {107] 4 t103| 6 ! 101
10~29 A (100.0) | (52.5)
<100.0> 1<90.7>1<9,3>1<12.1>4<87.9>|<47.7>1<52.3>]<52.3>4<47.7>1 <O ,0>1<100.0>] <3.7>4<96.3>] <5.6>1<94.4>

226 144 [ 1401 4 15 1 129 72 + 72 | 109+ 35 | 4 i 140 4 1140 12 i 132
30~99 A (100.0) | (63.7)
<100.0> 1<£97.2>1 <2 .8>1<10.4>1<89.6>]<50.0>1<50.0>] <75.7>1<24.3>| <2 ,.8>1<97.2>] <2 .8>1<97.2>] <8.3>1<91.7>

133 124 [115! 9 17 1 107 | 67 ¢t 57 | 100 24 | 6 ! 118 [ 10 | 114 | 12 | 112
100~299 A | (100.0) | (93.2)
<100.0> 1<92.7>8<7.3>1<13.7>4<86.3>] <54.0>1<46.0>]<80.6>1<19.4>| <4,8>1<95.2>] <8.1>1<91.9>] <9.,7>4<90.3>

) 79 71 68 i 3 | 19 i 52 | 46 | 25 | 63 | 8 8 163 | 11 § 60 | 10 | 61
300 ALLE | (100.0) | (89.9)
<100,0> 1£95.8>1 <4 .2>1<26.8>1<73.2>]<64.8>1<35.2>]<88.7>1<11.3><11.3>1<88.7>]<15.5>1<84.5>]<14.1>1<85.9>

127 112 106 1 6 19 1 93 | 69 1 43 | 94 | 18 4 1108 11 {101 ] 13 | 99

TS () | (100.0) | (88.2)
<100.0> 1<94.6>1<5.4>]1<17.0>1<83.0>|<61.6>1<38.4>]<83.9>1<16.1>] <3.6>1<96.4>] <9.8>1<90.2>|<11.6>}<88.4>

o 605 360 | 3381 22 | 52 | 308 | 179§ 181 | 248 i 112 | 14 i 346 | 19 | 341 | 28 i 332
FEFL S (M) | (100.0) | (59.5)
<100.0> 1£93.9>1<6.1>]1<14.4>1<85.6>|<49.7>1<50.3>]<68.9>1<31.1>] <3.9>1<96.1>] <5.3>1<94.7>] <7.8>1<92.2>

. 302 496 | 465 | 31 | 84 | 412 | 294 | 202 | 392 ! 104 | 20 ! 476 | 29 ! 467 | 46 ! 450
H24384 5t | (100.0) | (61.8)
<100.0> 1£93.8>1<6.3>]1<16.9>1<83.1>]<59.3>1<40.7>]1<79.0>1<21.0>1 <4.0>1<96.0>] <5.8>1<94.2>] <9.3>1<90.7>
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<100.0> <91.5> 1 <8.5> 1<16.7>1<83.3>1<55.4> 1 <44.6>| <1.7> 1<98.3>]<10.2> ! <89.8>
i 82 35 32 3 4 31 19 16 0 35 3 32
R (100.0) (42.7)
<100.0> <91.4> 1 <8.6> | <11.4>1<88.6>| <54.3> 1 <45.7>| €0.0> 1<100.0>| <8.6> {<91.4>
126 80 73 7 14 66 46 34 2 78 11 69
g (100.0) (63.5)
<100.0> <91.3> 1 <8.8> | <17.5>1<82.5>| <57.5> 1<42.5>| <2.5> 1<97.5>| <13.8> ! <86.3>
8 7 6 1 1 6 4 3 0 7 0 7
AT B K (100.0) (87.5)
<100.0> <85.7> 1 <14.3>|<14.3> 1 <85.7> | <57.1> 1 <42.9>| €0.0> 1<100.0>| <0.0> 1<100.0>
B 16 12 11 1 4 8 6 6 0 12 2 10
TH¥RIE(E (100.0) (75.0)
<100.0> <91.7>1 <8.3> | <33.3>1<66.7>| <50.0> ! <50.0>| €0.0> 1<100.0>| <16.7> ! <83.3>
61 36 33 3 6 30 22 14 1 35 2 34
TG, T (100.0) (59.0)
<100.0> <91.7> 1 <8.3> |<16.7>1<83.3>| <61.1>1<38.9>| <2.8> 1€97.2>| <5.6> {<94.4>
174 79 74 5 20 59 48 31 1 78 3 76
ENFE, /INFE (100.0) (45.4)
<100.0> <93.7>1 <6.3> | <25.3> 1 <74.7>| <60.8> 1€39.2> | <1.3> 1€98.7>| <3.8> 1<96.2>
B 16 14 11 3 1 13 7 7 2 12 3 11
A, PRIR (100.0) (87.5)
<100.0> <78.6> 1 <21.4> | <7.1> 1<92.9>|<50.0> 1 <50.0> | <14.3> 1 <85.7>| <21.4> | <78.6>
19 9 8 1 2 7 3 6 0 9 0 9
RENE, Pl (100.0) (47.4)
<100.0> <88.9> | <11.1><22.2> 1 <77.8>| <33.3> 1 <66.7>| €0.0> 1<100.0>| <0.0> {<100.0>
I, - (101(;5 0) (467 7 ‘ ’ ’ ‘ ’ : ’ ‘ : °
Ffr—e 2 : :
<100.0> <100.0>1 <0.0> | <0.0> 1<100.0>| <28.6> 1 <71.4>| <0.0> 1<100.0>| <14.3>1<85.7>
e 30 13 12 1 2 11 3 10 0 13 1 12
e, Bk (100.0) (43.3)
<100.0> <92.3> 1 <7.7> | <15.4> 1 <84.6> | <23.1> 1 <76.9> | €0.0> 1<100.0>| <7.7> 1<92.3>
JR— (15180) (4%)60) 14 2 3 13 11 5 1 15 1 15
P—E R PR : :
<100.0> <87.5>1<12.5>|<18.8> 1 <81.3>| <68.8> 1 <31.3>| <6.3> 1<93.8>| <6.3> 1<93.8>
20 16 16 0 2 14 9 7 0 16 1 15
HE ., E IR (100.0) (80.0)
<100.0> <100.0>1 <0.0> | <12.5>1<87.5> | <56.3>1<43.8> | <0.0> 1<100.0>| <6.3> 1<93.8>
B 61 46 44 2 6 40 27 19 0 46 7 39
B, fEhk (100.0) (75.4)
<100.0> <95.7> 1 <4.3> | <13.0> 1 <87.0>| <58.7> 1 <41.3>| €0.0> 1<100.0>| <15.2> | <84.8>
15 9 9 0 1 8 1 8 0 9 1 8
HAEVP—EA (100.0) (60.0)
<100.0> <100.0>} <0.0> | <11.1>1<88.9> [ <11.1>1<88.9> | <0.0> 1<100.0>| <11.1>{<88.9>
= 49 22 17 5 1 21 14 8 0 22 5 17
(wicsrmsnmoso) [ (1000 (44.9)
St <100.0> <77.3>1<22.7>| <4.5> 1<95.5>|<63.6> L <36.4>| <0.0> 1<100.0>| <22.7> ! <77.3>
90 13 13 0 6 7 9 4 0 13 0 13
INLLT (100.0) (14.4)
<100.0> <100.0>1 <0.0> | <46.2>1<53.8> | <69.2>1<30.8> | <0.0> i<100.0>| <0.0> i<100.0>
204 80 69 11 12 68 40 40 2 78 4 76
10~29 A (100.0) (39.2)
<100.0> <86.3> | <13.8> | <15.0> | <85.0> | <50.0>  <50.0> | <2.5> 1<97.5>| <5.0> | <95.0>
226 126 121 5 17 109 69 57 1 125 13 113
30~99 A (100.0) (55.8)
<100.0> <96.0> | <4.0> | <13.5> i <86.5> | <54.8> ! <45.2>| <0.8> 1<99.2>|<10.3> ! <89.7>
133 112 103 9 14 98 59 53 1 111 15 97
100~299 A (100.0) (84.2)
<100.0> <92.0> | <8.0> | <12.5> | <87.5>| <52.7>1<47.3>| €0.9> 1<99.1>| <13.4> | <86.6>
79 70 61 9 18 52 45 25 3 67 9 61
300 ANLL E (100.0) (88.6)
<100.0> <87.1>1<12.9>1<25.7> 1 <74.3> 1 <64.3> 1 <35.7>| <4.3> 1<95.7>1<12.9> ! <87.1>
‘ 127 108 97 11 19 89 63 45 4 104 13 95
FEFE (A) (100.0) (85.0)
<100.0> <89.8> } <10.2> | <17.6> | <82.4> | <58.3> 1 <41.7>| <3.7> 1<96.3>| <12.0> | <88.0>
‘ 605 293 270 23 48 245 | 159 @ 134 3 290 28 265
FEFE A () (100.0) (48.4)
<100.0> <92.2> 1 <7.8> 1<16.4>:<83.6>1<54.3> ! <45.7>| <1.0> 1<99.0>| <9.6> | <90.4>
— 802 161 428 33 76 385 | 270 | 191 7 454 38 423
H247f &3 (100.0) (57.5)
<100.0> <92.8> 1 <7.2> 1<16.5>1<83.5>]1<58.6> 1 <41.4>] <1.5> 1<98.5>| <8.2> 1<91.8>
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100.0 32.9 67.1
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X4y et TAE [ 0% oD FE
[E1 S il il
N RPN R EHBY [ mmLe | EEmL | PED
PEZE - A x %
. 571 209 56 153 362
IR R (100.0) (36.6) 137 (63.4)
100.0 26.8 73.2
B 50 10 3 7 10
fee (100.0) (20.0) 6 (80.0)
<100.0> <30.0> <70.0>
) 107 36 3 33 71
i (100.0) (33.6) 3 (66.4)
<100.0> <8.3> 91.7>
) 7 2 0 2 5
CANIRE TV (100.0) (28.6) 0 (71.4)
<100.0> <0.0> <100.0>
S 15 5 0 5 10
THHRIBE (100.0) (33.3) 0 (66.7)
<100.0> <0.0> <100.0>
— a7 14 1 13 33
G, HE (100.0) (29.8) 2 (70.2)
<100.0> <> <92.9>
o 130 39 11 28 91
H5E. /e (100.0) (30.0) 39 (70.0)
<100.0> 289> <71.8>
-~ N 12 3 0 3 9
A, PRI (100.0) (25.0) 0 (75.0)
<100.0> <0.0> <100.0>
, JN 14 6 4 2 8
REPE, W) EE (100.0) (42.9) 5 (57.1)
= <108 [0 <6E(S) 10 <3% 3> =
=
SEINAFSE, BEFY .
prelinine (100.0) (0.0) 0 (100.0)
BTy —E A = €100.0> 0.0 Q0 10
‘ff'_fkf: (100.0) (61.5) 26 (38.5)
- <1%02 0> <3% 3> <6§68> -
AT B
£ o (100.0) (64.7) 7 (35.3)
PER A — <100.0> QLY T.D> -
N (100.0) (25.0) 2 (75.0)
<100.0> <25.0> <75.0>
— 54 36 19 17 18
=k (100.0) (66.7) 38 (33.3)
<100.0> <52.8> <47.2>
] 10 3 0 3 7
HE—E A (100.0) (30.0) 0 (70.0)
<100.0> <0.0> <100.0>
R, ( 39 ) (13) 3 o 10 (26)
(S L D) 100.0 ]3030.30 va 1 6 66.7
i 58 12 0 12 16
IANLLF (100.0) (20.7) 0 (79.3)
<100.0> <0.0> <100.0>
133 34 3 31 99
10~29 A (100.0) (25.6) 5 (74.4)
<100.0> <8.8> <91.2>
190 86 26 60 104
30~99 A (100.0) (45.3) 59 (54.7)
<100.0> <30.2> <69.8>
120 52 20 32 68
100~299 A (100.0) (43.3) 50 (56.7)
<100.0> <38.5> <61.5>
i 70 25 7 18 45
300 AL 1 (100.0) (35.7) 23 (64.3)
109 1%01 d 2%0 72250 78
FHERLE CF) (100.0) (28.4) 29 (71.6)
462 <1? ?80> <15904> <%%§3 2 284
S B A (HE) (100.0) (38.5) 108 (61.5)
100.0 28 1 71.9
. 545 221 49 172 324
H24 7845 (100.0) (40.6) 134 (59.4)
100.0 29 9 77.8
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HAL 35T (%) LA

EA Bl VARSI 0% o0 4%
[E1 S il il
e T AL Kby [ mmLr | ERL MR
PEZE - A x 5
. 516 71 12 59 445
IR R (100.0) (13.8) 19 (86.2)
100.0 16.9 83 1
B 19 5 0 5 14
fee (100.0) (10.2) 0 (89.8)
<100.0> <0.0> <100.0>
) 98 19 1 18 79
i (100.0) (19.4) 6 (80.6)
<100.0> <5.3> <94.7>
) 7 1 0 1 6
CANIRE TV (100.0) (14.3) 0 (85.7)
<100.0> <0.0> <100.0>
S 16 1 0 1 15
THHRIBE (100.0) (6.3) 0 (93.8)
<100.0> <0.0> <100.0>
— 44 6 1 5 38
G, HE (100.0) (13.6) 1 (86.4)
<100.0> 16.7> <83.3>
o 117 13 4 9 104
H5E. /e (100.0) (11.1) 5 (88.9)
<100.0> <30.8> <69.2>
-~ N 11 2 1 1 9
A, PRI (100.0) (18.2) 1 (81.8)
<100.0> <50.0> <50.0>
, JN 12 3 1 2 9
REPE, W) EE (100.0) (25.0) 1 (75.0)
= <108 0> <3% 3> <6E(S) 1 =
—
FAGHFSE, B -
prelinine (100.0) (0.0) 0 (100.0)
BTy —E A - <100.0> 0.0 0.0 —
‘ff'_fkf: (100.0) (15.0) 1 (85.0)
- <1050 0> <331 3> <6§1 1 -
AT B
S (100.0) (17.9) 1 (82.1)
PER A = <104.0> 200 0.0 _
HE ., FEH R (100.0) (7.1) 0 (92.9)
<100.0> <0.0> <100.0>
— 44 5 1 4 39
=k (100.0) (11.4) 1 (88.6)
<100.0> <20.0> <80.0>
] 9 2 0 2 7
HE—E A (100.0) (22.2) 0 (77.8)
- <1050 0> <010> <102 0> -
P —E 2
(fIz SN2 NS D) (100.0) (1103(558 00 2 “0.0 (86.5)
i 54 5 0 5 19
INLLF (100.0) (9.3) 0 (90.7)
<100.0> <0.0> <100.0>
123 11 0 11 112
10~29 A (100.0) (8.9) 0 (91.1)
<100.0> <0.0> <100.0>
163 24 4 20 139
30~99 A (100.0) (14.7) 4 (85.3)
<100.0> 16.7> <83.3>
109 18 6 12 91
100~299 A (100.0) (16.5) 8 (83.5)
<100.0> <33.3> <66.7>
i 67 13 2 11 54
300 AL 1 (100.0) (19.4) 7 (80.6)
103 1%910 ]554 8?96 79
FHERLE CF) (100.0) (23.3) 11 (76.7)
T3 <19107 0> <2(% 8> <7202> -
S B A (HE) (100.0) (11.4) 8 (88.6)
100.0 14.9 85.1
. 545 68 13 55 77
H24 7847 (100.0) (12.5) 27 (87.5)
100.0 19,1 80.9
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